Datenblatt / Data Sheet ANBAUANLEITUNG/MOUNTING INSTRUCTION

EUCHNER

Ansicht D/
View D

Ansicht B/
View B

© EUCHNER GmbH + Co. KG E}@ Mafe in mm / Dimensions in mm
I —
[l

r
|
[—
:

|

|

|

|

|

l

-

|
[
l

|

|

|

|

|

l

Achtung!
Riegel darf nicht in Verbindung mit einer
Fluchtentriegelung verwendet werden!

Caution!

Bolt may not be used in connection
with an escape release.

Bolt NZ-AR2
Order-No. 078455

Riegel NZ-AR2
Bestell-Nr. 078455

Technische Anderungen vorbehalten, alle Angaben ohne Gewahr / Subject to technical modifications; no responsibility is accepted for the accuracy of this information.

2078457 - 8-02.04.20 - LR - HL - AD - Blatt/sheet 1/ 1

EUCHNER GmbH + Co. KG Kohlhammerstrale 16 70771 Leinfelden-Echterdingen  Tel. +49/711/7597-0 Fax +49/711/753316 www.euchner.de info@euchner.de

255

40 15 110
20
fur fur
Schraube M6/ Schraube M6/
for M6 screw for M6 screw
- [ [ ] I
| | | | |
| | | |
[ | [ | |
<
¥ @
® @
E
< ©
®
©
N~
Ye] |
o0 I
(90)
|
|
foe) o
8 L@ |
l
o
[(e]
|
|
M5 | D : B
30 ! (.
Sicherheitsschalter NZ.VZ...
' Anfahrrichtung
| | | | A
M. ' Lo
/\!} S — Sicherheitsschalter
fir separat bestellen.

Schraube M6/
for M6 screw

Schutzgitterrahmen/
Guard frame (40x40 )

tl U a Rechts

Safety Switch NZ.VZ...
operating direction
A

Please order
Safety Switch separately.

O O angeschlagene Tire/
s s Door hung on right
U O DQD, L T D
__ __/
AE -0: i IH :: © |
@40 _ 4 _
\\
(58,3)




